Topic 17 

Comparing Several Means—Contrasts 

	Activity 17-1:  Differences in Mean Household Size  


a) Open the SPSS data file HOUSEHOLD.SAV.  Draw a means plot of household size versus race.  How do you feel that the means for the three groups differed from each other?
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Households for Black and White families are roughly the same while those from other races tend to be larger.
	Activity 17-2:  Contrasts


Which of the following are contrasts?

a) 
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  Yes
b) 
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c) 
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  Yes
d) 
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  No
	Activity 17-3:  Developing Contrasts


Suppose you have four groups, with their respective means, 
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.  Write a valid contrast that will make the following comparisons.  Give the values of 
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in each case.
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b) 
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c) 
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, but the two pairs differ. 
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	Activity 17-4:  Mean Household Size (cont’d.)


a) Write a population contrast that corresponds to the pattern that the mean household sizes for Blacks and Whites are the same but they differ from the other race group.
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b) Compute the value of the sample contrast that corresponds to the population contrast in part (a).
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c) Compute the value of 
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 for this contrast.
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d) Compute the value of t.
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e) How many degrees of freedom are associated with your t statistic?

d.f. = 1962
f) What is the appropriate alternative hypothesis for testing if the groups with some high school education have a mean household size that is greater than the group with no high school education?
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g) Compute the p-value for your test.
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h) What do you conclude?

There is strong evidence that the other race group larger mean household size than the other two groups.
i) What is the critical value for constructing a 90% confidence interval for 
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j) Use the above formula to construct a 90% confidence interval for 
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k) Have SPSS conduct the sided test of the contrast you wrote in part (a).   Write the value of t and the p-value for the one sided test in the space below.
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